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Basic formulas:
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Basic formulas:
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Basic formulas:

If a™ = a™, then

m=n a+#0,1,-1
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If a™ = b™, then

a = +b, if mis even
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a = b, if mis odd
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Things to memorize:

J2= |1y - 212 36 55 6%

J2=11%2  Squares up to 30
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[. Recognlze the rational number:
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2. Which of the following is a surd? )
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15. If 5°**5 = 1, then x equals
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16. 1f 27%%~1 = 2433, then x equals
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17. (125)* = 3125, x =?
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18, If 8375 = - then x =?
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ia. If 3*tY = 81 and 81* Y = 3, then the value of x is
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20, 22*7Y = 16 and 2**Y = 32, the value of xy is
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23. If (x¥)2 = x** then x =7
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2y, XV = (x\/_) , then x equals
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26_What are the possible solutions for x of the equation xV* = Y/x%, where
x and n are positive integers ?
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